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3. (=] ae 4,000 4,000 0
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1. a9 1,300 2,760|  -1,460| LFEEAE TY ¢ 650,0009#23]= 1,300,000
2. [ 2SFHAE 1,710 2,070 -360
1.7 e 1,710 o 1,710 ig?% A BARE 15,0008 195 = 1,710,000
2.+95% 0 2,070|  -2,070
3. [F]1RAFHAY 3,000 3,000 0
1.71e53 3,000 0 3,000 B AT 1 300,000 #1049 = 3,000,000
2. ¢33 0 3,000 -3,000
4. (2104939 0 210 -210
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5. [x]13FEHETY 19,880 22,600 -2,720
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2. 318 wydE 6,700 8,100|  -1,400
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2. %952 180 360 -180 | ZAHH] 1 15,0009) %44 ZF+3 = 180,000
6. 550ty 4,228 7,072 -2,844
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EEREE 1,587 1,575 1p| TEBHAEARA, Q) + 500,0008+2 1,000,000
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5ﬁ_Ldo§x7lE}o 1 @ 10,00099%1013 2,020,000
%23]=
6?’%@%%&317]15}7%] 25,0009 %102 9.550.000
x13]=
63 AR AR ¢ 450,000 =4t *13]= 1,800,000
AN G stE WA AH] 101,000 +68 = 606,000
3. 5ol EgE 2,200 2,300 -100
1.[z]&FlelEE 2,200 2,300 -100
Zo)d APYLEE sorEAY ¢ 100,000
T A X 2] 1 _ ,
‘1 CI R ’ 2,200 2,300 100 RO 2,200,000
4. 72T E 1,235 1,110 125
1.[2]AzZA88% 1,235 1,110 125
‘1 LG ’ 1,235 1,110 125 A EZAF T2 g 13,0000 95 = 1,235,000
4. 483 ugss 291,480 207,345 84,135
1.5M8% 21,580 14,705 6,875
1.5A8524 21,580 14,705 6,875
1.[Z]=ABeS 1,320 1,925 -605
Sy £ EE 19 2
1. 3593w 1,120 1,925 -805|_ " T 29 &F 79 1 25,0008-10 500,000
T#238]=
vz = 2F¢iH] @ 5009 #6207 #23]= 620,000
. SR A BAAF 7k 9]
2. 4 F-F%10) 200 0 200| ) " TSR Al s 25,000€0+2 200,000
Tx43]=
PR ESR=E R 12,400 8,500 3,900
1. 247900 12,400 8,500 3,900 =AY 1 10,0009 #6207 23] = 12,400,000
3 [21AYA AFeiv] 2A F9 7,860 2,280 5,580
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1. 24740 0 2,000 -2,000
2,78 ez w8 as 1,500 1,000 500
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1. 05990 1,500 1,000 500 a1 3] 1,500,000
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202381 A% A = of| AHH Al A

AR 1 Helak (29 = A
A
Ad= | v .
AR | G | A ARG A7VE AN & = o™
3.9 5 sk o 268,400 191,640 76,760
1.3 358k 245,740 161,720 84,020
1. [Z]agzz o 76,320 46,320 30,000
FEA S B A8 \j_g 2 94] %
1. 50899 19,200 12,300] 6,900 T A S AR 15,000 3,600,000
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AL E g 9 oTOJJ—ZH | 2 A | 2,400,000
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AN AEZ DGR ZFAby] 21520
= t Egdy 5 ZA] 1 28,0009#20 6,720,000
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SR AR 28,0009 #5098 129 = 16,800,000
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E
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1,000

300

1,300,000

S5 545 34 9,260

1,080

180

1,260

1,080

180

1,260,000
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11,100,000

37,386

36,310

1,076

9,683

13,128

-3,445

9,683

13,128

-3,445

2,213

3,398

-1,185

1,613

2,798

-1,185

1 71,5009 %12 =

853,000
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deta EF 3 AT 0 200,0009) 200000
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=44 BE 2 A5 79 ¢ 650,000 650000
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4. (%1344 7 5,020 5,480 -460
st 9 E5A H4A8E o) 30,0009
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A9 B4 AELE 1 1,000,000 23] = 2,000,000
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5. k=81 8,335 7,335 1,000| 57 H] : 200,000 2™ = 400,000
EE FET 0 13,8009#55-+12Y= 828,000
%AP_%XI 2L FAA 7Y ¢ 20,5759 %504 4,115,000
2#43]=
AJEH] 100,000 #13])= 100,000
AREEE, SAREE 7Y ¢ 28,9209%20% 2,892,000
*59‘4_
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